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P8 ecs eamered.

oL (@) ¥*+y’=41 e® xy=20,x>y>0 &8 (x+y)? @ (x—y)* oo goo
coIns®. Ox38 x®m y 8 good emwmsis.

)  f(x) = x* +44x + 181 — 18 ego ®5Q.
(i) f(x) = 0 o8n0Hned oD Y =068 e 1 8 aord emieies.

(i) A=-1 =3 & 6ed. 0 f(x) = 0 c¥wOwed g a =& f d.

(a+2),(B+2) 8 ege =O8m» DLDS EPDOFH®D LIRS,

(© 22— 20.2*+64=0 odwos Docen.

02. (a) ofio gozme §edber mdmens (32" —1), nez' oco 8 § QIEMORS O&
29 cesiosim.

1
®)  Ur= e

0B & Sed.

fr)— f(r+1)=U, @ e 1 8 oo ecowmse.

2
r(r+1)

e®8 f(r) =

n - r___ 1
r=1Ur = 1 I 20 cosiode.

Yo U, 8 aoo eoxsi®.
(©) X , X
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03. (a) KNDALIYADDAPALUWA @& 0domed Bod® andt oo g o odad
8enrg 558 e €?

P8 IO B0 A qoed 6 MRed 88508 e?

9
(b) (2x +1/,.2) oo0med x=1/6 B0 Bmgne oeo exmde.

© Fx)= 28 +ax*+ux+y 99 @0 (x—1),(x + e x O e2ed0 ecdews
BEeORS 2, 5 @ 26D ALuy B goos eowmek.

04. (a Z=+V3+j) a8

(i) Z =1 {Co0s0 + jsin0} OO Sm® DOSN. @8 r>0 & 27 >60>0
@d.

1
(i) z + ~,ao b oo § atjb PWMIOEO QI O,

3-4j
5- 12

(b) @02 @030 atjb MWORD G DOS.

1-2jsin 6
3+2j sin 6

(©
(i) oS (i) @ecs gocdn Oo 0 8 gore emies.
d x+2y—z= 9
x+5y+z = 25
x+y+z =9

olnde ocbtn docsi.



05.

06.

07.

ABCD e®dgoge A =(6,0),C = (0, 8) Oeves 880a.

(i) AC &) BD Sobmdg edndn @) @&e.

(ii) Sopbeog o cowss. Oois EPbROEesd oD EOY, Hb@dEED
e oSo.

(i) AB @ AD 5@ aapde emmsie.

(ivy AB e» AD oxde oBodEn emsio.

) B o D goesdg 28idro eI,

(vij BC @ CD 0@ PO eIDEND.

AB ooz eccmd DHIDD BEOBS (X, Ya) 0 (Xps Vi) ed. AB eb® JEndownt e
=O6» Damed oPmOD

(x - %) (x=%) +(y-ya) (v -yp)=0 @O easiOsi.

Genizmon e O 8@ EF®3, P=(34) & Q = (1—57-8) ed. PQ © @¥ e O

®Om) Gl MO, P ®o®m 0Q O ©82 ege i O H 88 oY 5.
H & ogfxs (21/5,3/5) @9 couidsim.

QH, OP © @82 oo @O ecosose.

QH eb@® OP,R 8¢ ©ged.

R 8 2sirD eomss.

0,Q.R goes &om) 0o Divmed oPnomE eorse. 00 Dismed emso ® o’
CEIDSID. '

(a) x Becens qODEH® DOSD.

. . _1 [(1—x%) . __ Secx-Tanx
(l) y= Cos [1+xZ ] (ll) y = Secx+Tan x

GiD) y = Sinx — Cosx R B 1+ Cos2x
HOY'= Sinx + Cosx )y = 1 — Cos 2x

) Vi—xf y=sin'x o8
(1—x%) g—f —Bx%—y:O 20 eosiOsk.
(c) aocs a § ewiges g odon Dee code oios o8n ©ig Dy BRSDOE

2a
e® 5 20 ecesPak.
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e



08. (a) EOD G BRINS®.

f dx
(x%+ 16) (x2+9)

(b) oy SESOD GRDED gGUOSe.

— 52
@ () dx ) [M*VI¥sinzx dx

() EO GEIER CEIRS.

[e™Sin bx dx
d y=vi—x? O x- gomens B O dLHAQE @RS,

09. (a) (i) cO® oo dacsk.
Tan 'x + Tan '2x = /4
(i) 2cotx + cosec2x +2cot2x =0 &8

CoS X = ii 20 ecmsDeim.

B

(i) cosx + cos 2x = sin 3x ©¥nOMed NOH SE® e

(b) ABC Genines ocm oPs gomeed

N

(i) a2 = (b+ c)* — 4bc cos”

(ii) a Cos A+ b cos B =ccos (A—B)

20 ecsiosiks.
S808 gidd.
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Answer six (06) questions only. You can’t use mobile phones as calculators.

01. a) Ifx*+y* =41 and xy =20, x >y > 0.
Find the values for (x +y)* and (x - y)?

Hence find the values for x,y.

b) Let f(x)=x>+4Ax + 18 X - 18

1. Find the values of A such that f (x) = 0 has real roots.

ii. Given that A = -1, let a, 3 are the roots of the equation f(x) = 0.

Find the quadratic equation whose roots are [o + 2] and [B + 2]
c) Solve the equation 2%~ 20 (2*)+ 64 =0

02. a) By the principle of mathematical induction , show that (3°" -1) is a multiple of 8
+
forall mée& . Z

|
Y (r+1)(7 +2)

Find A such that f(r) —f(r +1)= U,

b)  Let Uy=




03.

04.

b)

b)

Show that

n _ 1 1
Yr=1Ur = 4  2(n+1)(n+2)

Find the value ),peeq UT

Find the set of values of x satisfying the inequality

2
—x—Z—%—, x#*+3,x#1

x-3 x—-1

In how many different ways can the letters of the word
KANDALIYADDAPALUWA  be arranged.

In how many of these arrangements, will six “A” s be adjacent.

1\9 1
Find the greatest term of the expression (ZX + 3_x2) when X = P

When the polynomial f(x) = x8 + Ax? + ux + y is divided by (x — 1),
(x+ 1) and x, the reminders are 2, 5 and 2 respectively.

Find the values of A, pu, v .

IfZ=—V3+j
. express in the form Z = r{Cosf + jSinO}
Where r> 0 and 2n > 6 > 0.

.. 1 . .
il. express Z + ~ in the form a + jb

where a,b € R

Express the complex number = 12]], in the form a + jb.




05.

06.

d)

1-24Siné

Find the value of 0 such that 3+28in8 is

1. Real ii. Purely Imaginary

Solve the following system of equations.

Xx+2y—z=9
x+5y+z=25
x+ty+z=9

A square ABCD is such that the coordinates of A = Lé ,0), € = (6.8)

i

ii.

iii.

1v.

V.

Find the equations of the diagonals AC and BD.

Find the length of the diagonals. Hence find the length of a side of the square and
the area of the square.

Find the gradient of the sides AB and AD.

Find the equations of the sides AB and AD.

Find the coordinates of the points B and D.

Find the equations of sides>BC and CD.

A, B are two points (X, Ya) and (Xp, yb) respectively. Show that the equation of the circle

with AB as a diameteris (X —X,) (X —Xp) T (Y —¥a) (Y —y») = 0.

A triangle has the vertices, the origin O and the points P = (3, 4), Q =(17/5, 6/5). The

line through O perpendicular to PQ and the line through P perpendicular to OQ meet

at H. Show that the coordinates of H = {21 fiS ,)3‘;"'5} .

Show that QH is perpendicular to OP.
If the line QH meets OP at R. Find the coordinates of R;

Find the equation of the circle that passes through the points O, Q and R;

Find the centre and radius of this circle.




07. a)

b)

08. a)

b)

Differentiate w.r tox.

-1 [1—x" . __ Sex—Tonx
i v ={{as " |—2 il. ¥y =
2 . o . . -
1+ Sscx+Tanx
_ Sinwm—Cosx __ j1=Ceo=ix
1il. ’ e e v V= T/

- Sinmw+Cozy 4 1-Cos2x

. 2y dYy ay —
Prove that (i — X 'J—'E — 3x — Y=20

Prove that the height of the right circular cylinder of maximum volume that can

2a

e inscribed in ere of radius ‘a’ i =
be inscribed in a sphere of rad S /T

Find
f d’(

(x®#160{x+5]

Evaluate the following definite integrals.

21—z
. g -, Fon
i. f@ ( ; R‘)a‘:a_

Visx=,

e e
i J, fV1+sm2x dx




09.

d)

b)

Find

[ e Sinbxdx

Find the area bounded by the curve

ey
4

v = V1= x% and the x —axis.

i. Solve the following equation

Tanlx +Tan *2xr="T/,

i

1 »
il. If 2 Cot x + Cosec 2x + 2Cot2x = 0 then show that Cos x = £ ,"{ "..E

1ii. Find the general solution of the equation Cosx + Cos2x = Sin 3x

With the usual notation in a triangle ABC, Prove that

i. a’=(b+c)*—4bc Cos’ A
2
il. aCos A+bCosB=cCos(A-B)

- Copyright reserved -
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01. (a)

(b)

(c)

02. (a)

(b)

(©)

X2+ y? =41, xy=20,x>y>0 owpuler, (x+y)* wpmd (x— )? @i

QUIITETEIGEMSTE &TaE. GHIGHS X, Y seflest QUMILSBEDETE HITETIS.

f(x) = x* +4Ax + 181 — 18 aene Qarels.

(1) f(x)=0 openg, Qwuj@mréjéemma's Gareamigma@oruiesr, A @er
QUEIDTETEIBEN TS EIT6UIIEH.

(i) 1=—1 e syuul@ereng. gwaur®G f(x) = 0 @er (peOmIEGT o, [
siere QametGeuriomuilet, ’

(a+2),p+2) GTEUTLIGNTEUMEm M) CLPEVMBIGENT &S Q& TeusIL B puRs
ST DL  SHT601%. .

goguT@ 225 — 20 X (2%¥) + 64 = 0 @oweg Sibs

solls  GsT@ssNe oWl  LWEUGSHSH (32" — 1) opemgl, oeveor N €L
@Anew 8 Bl @k GUHSHD 6l6Nd &ML (Heb.
1

U, = TrrD02) eTeotdh QB Ters.

fr)— fr+1)=U, ouuian, 1 @b sraos.

. A .

gme f(r) =177 oL
n T .
T U= 7 T a3 DmiD ol BT (Hb.

Y, U, @ Quploglmwid STemis.

@& swalalmwd Hpud CFuwssmL @k QETG&EH X @1 GUDIDTEIEISMSTS
HTETIND.
2x 1 -
= > —;x #3,x#1
x—1

x—3




04.

(b)

(c)

(a)

(b)

(©)

(d)

¢ p]
sigsmen algdurgorer suflseafes KANDALIYADDAPALUWA etgmitd

QETe6VlVIETET 6(WDSHSHIHHET GIPBISMDSHSIUL  (LPIQUD?

@nhs @ursmLILGSTD AGSEHSS D A’ BHEEHSEESTE THHOM
PUOBIGMEMWILSEET ) (H&Slemen?

9
x =1/6 o@weurgl (2x+1/3x2) ermid  eflugeneniules  WslQufiw o _miiemud

SHT60016b.

uoemd F(x) = x®+Ax?+ ux+y  awemzm  (x—1),(x+1) wpow X
stniusteummred IflssiuGy Gurg Wdset wemmGw 2, 5, 2 op@Ww. AU,y B
QUUILHSHEN6TE HTEWIH.

Z= 3+ ) ol

(i) Z =1r{CosO + jsinf} eremid eugelled elufdbes.
@mig r>0 opeeyd, 2r>60 >0 SpBD BHBHEMES!.

1
(ii) zZ + = sienueng atjb eugaled elufds. @mig a, b €ER

. . 3-4) . . .
Hleba6l6v 6T = 1211, m atjb eugeled efluflss.
1-2jsin 0
—— gem
3+2j sin 0 &l

(i)  GQuur (i) pHn (PUSTE SMHUEDET
& QBHEGD FhsTUUES6NO 0 @l GUEIDITEIBIGMETS SHT6IIS.

Heiteummd goaur’ (s QFHTE&Hmws &ibhse.
xX+2y—z=9
x+5y+z =25

x+y+z =9



05.

06.

07.

@G sab ABCD @ed sysisapmst 4 = (6,0),C = (0.8) 2@

0] apemevall Lisst AC, BD @ FEUTHEMETE ST,

(i) cpewev el Lmisefldl Bonmimeens sTas. BHlGHS! FRTHB U
BENEISEm 6T STEIUGILETT, FHTSHE UTUHULLD  SHIT601H.

(il)  uvssmset AB, AD &6MEIT FTUIGYBEN6NS  &HIT601E.

(iv) ussmset AB. AD H6flell FLOGIUT(HSHMETE HT6IIH.

) yerefleet B, D SN DULETFMIHEN6NE SHITENIH.

(vi) ugarisst BC, CD seflel g0aUT(HEmeN S SHIT60IH.

AB  odw @uen® Usialssl pmmBW (X, Ya)s (Xos Yo) S&WL. AB  eow el Lionass
QarewiL sl LeHer soaur® (X - X)) (x-xp) F(y- y) (y -y) =0 o016 s e

QM (PoHGsmeuId o _pusd O yselser P = (3,4), Q = (g,g) sluaIDEND 2 FHHETTHED
Qaram@ereng. PQ @h@ OGemigsste O el@nres GFsdeid GEM8sr(hw, P ulamrires
Qeasoad GETCETHY H @b sphgladnsl.

H @ apsitaam H = (21/5,3/5) eaos sri(s.
QH gyenig OP 6@ QmiGHsTGw 6ed STl (Hé.
QH oo OP ey R @60 apdld@omuiler,

R @61 o 6ignenme HT601e.

yeredlset O,Q,R sefl@mness Qaeaeid ol LSH somuT mLs Sres. @b QUL SFett
EDLOWILD, BLEDT 6TEITLIEUMENDE  &HIT6I0I.

(a) x mé GNes susnaulbhs.

M y= Cost [2)] W)y =

1+x2

Secx—Tanx
Secx+Tan x

1+ Cos 2x
1—Cos 2x

i)y = Sinx — Cosx )y =
HOY= Sy + Cosx (v)y =

(b)y V1—x% y=sin"'x  opular,

2
(1-x%) ;lxz — 3x %— y =0 seeois s1.(HS.

() a oyyuymLw @ GarasEN@GsT aemIwsangul Pl HeveueTeneUs QG TevoTL

Qseuaul L 2 (memenuflem 2 wigtd 3—% eTea1  Blmieys.
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BT,

dx
f (x2+ 16) (x?+9)

(b) Ueteumid susnyumssiu’ L Gsrenauibasfilar Quuiorend &l es.

©  F(ES)dx @ [T +sinax dx
(c) [ e%*Sinbx dx & sewis.
(d) auemenull y = V1 —x2 @D X- HHEFFQTEVID DiMLSSULLL UJLIeNUES HT6I5%.
09. (a) eiioupd FOEUT DL g HThs.

(i) Tan 'x+Tan '2x =mn/4
(ii) 2cotx + cosec2x + 2cot2x =0 Spuflesr,

1 . .
cosx = +—= easd STL(HS.
T LG
(i) sweT® cosx + cos2x =sin3x @1 GUTHIS STeneud HTEIS.

(b) waGasremd ABC @6t supenwwren @Guluibaserdlev,

(i) a® = (b+ c)? — 4bc cos?

N

(ii) aCos A+ bcos B =ccos (A—B)

oTevl  Blmieys.
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